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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2021

")

ECOACORO09T-EcoNoMICs (CC9)

INTERMEDIATE MACROECONOMICS-1I

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
- All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

F=fiRe - 256 arts Teg wies

(a) What is the difference between transaction theories and Portfolio theories of
demand for money?

¥ 5ifRwi Tege-uy @ wEfRe wred Wy Ay 2
(b) What is meant by Precautionary demand for money?
AoForEe Side sifznt Foce & @I ¢
(c) What is growth accounting?
Wi S sttt Fwice [ QRN 2
(d) What is meant by intertemporal budget?
ST ACHT FICF T 2
(e) How an investment tax credit may influence investment decision of a firm?
Rt #9-3¢ eI Ficik [ iRe faew aeiike 6 2
(f) What do you mean by consumption puzzle?
(orefe gt T & @I ¢
(g) What is Solow residual?
Solow-7 SRf¥E TCe & @RI 9
(h) What is meant by ‘Warranted Rate of Growth’ in Harrod’s growth model?
e Sk esfe Rans afewts iy anfeas wite & @RIt 20 2

2. Answer any four questions from the following: 5x4 =20
frfeiRe @-Iet s1af eva Tea wres

(a) What is steady state? Derive the steady state condition in the Solow growth
modelem- &

foMa oy owm = e & @@ 2 S
? Solow-93 TFaw Wora RfoMa ey
TRIER *Y (IF | ’

(b) How will in’ i i
o 1l you relate the concept of Tobin’s ¢ with the investment decision of

Tobin-7 ¢ wgfba 33 ik Rfwan Praters ofit Rremm =ye w9 7
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(c) Write a short note on Acceleration Theory of Investment.

REEICR 939 ©eF %17 @3B Bt @
(d) Explain how an individual chooses between present and future consumption using
a life time utility function.

GTE P Rei [T 9R SRS (it #fRmte sy oot
A W {0 et At

(e) Distinguish between the cases of a risk-averting plunger going for all bonds and a
risk-loving investor.

FFR-+Rd Ricased /N T o B3/76-9 Rivwas swces o 70 e
RN i 3%+ aferR «ide & ¢
(f) Do you think that transaction demand for money is interest sensitive? Explain.

I W T @ S Ee SRR rRd 9 aiRt 2ol =¥ 9 i Fedt

3. Answer any fwo questions from the following: 10x2=20
fAeieiRe -t 7% aees Tea wes
(@) How do you derive the investment function using neo-classical model of 6+2+2

investment? Using this theory, trace the impact of the following on investment:
(1) An earthquake or war (i1) Improvement of technology
R <@ Fe oy IJ77R F@ [Foir Rivw@n werms Fded 37 ¢ 9 o9
(@) o=t 3t & (}) T SREEE T @yfe7 T

(b) Explain why individual speculative demand for money is a ‘step function’ while
the aggregate demand for money schedule is downward sloping.

e IRee Fivewe bifm G Giot SeorwSs Twe oeda AT SiRw @t
et et 3t B

(c) What do you mean by Golden Rule Level of capital accumulation in the Solow 5+5
Growth model? Derive the condition that describes the Golden Rule.

Solow-3 TR WeEe EHe 2@eer 3o A e & @i 2 @3 Rl
e s 2

(d) Briefly explain: 5+5
(i) Demonstration Effect and

(ii) Ratchet Effect on consumption as stated by Duesenberry in his Relative
Income Hypothesis.

(OIS GEETs Y &fSTs TEER (SR T
(F) ewfq eor @R
(}) WY eer el At FE0ES ?

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hoir after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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